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Figure. S1 Example of a three-component, five-day long seismic noise record used for H/V
processing. The earthquake signals in this record will be discarded using the STA/LTA technique in
the H/V processing.
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Figure. S2 H/V spectra of the remaining 56 stations.
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Figure. S2 continued.
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Figure. S3 The optimum inversion shear-wave velocity models for the remaining 56
stations.
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Figure. S3 continued.
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Figure. S3 continued.
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Figure. S4 The synthetic H/V spectra and the observed H/V spectra for the remaining
56 stations.
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Figure. S4 continued.
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Figure. S5 H/V spectra calculated using different lengths (1 h, 2 h, 4 h, 8 h) of ambient
noise records for the remaining 56 stations.
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Figure. S5 continued.
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Figure. S6 Uncertainty of the Bedmap2 ice thickness at each station (after Figure 11,
Fretwell et al., 2013). The locations of the stations are projected to Fretwell’s figure as
the black dots denoted.



